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Figure S2. Correlation between body weight and treadmill, rotarod, hang-wire and grip strength test performance.
Exercise performance and muscle strength were evaluated in young (3 mo) and old (24-25 and 29 mo) mice and correlated with body
weight. (A) Time to exhaustion on the treadmill; 3 mo (n=20), 24 mo (n=24). (B) Latency to fall from the rotarod; 3 mo (n=9), 24 mo
(n=24). (C) Time spent hanging in the hang-wire test; 3 mo (n=11), 24 mo (n=18), 29 mo (n=11). (D) Four-limb grip strength test; 3 mo
(n=20), 24 mo (n=26), 24 mo (n=24), 29 mo (n=11).
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